w5

BER

B
ABRE

=%

Y&

RIBEH & (BEFEER

BB R L]

=
=1

RTEBYA

BRR

BHEYER

ABE—B—()3—F—.

mEE R
L RR

i RHRARE
EHR

BNEHE

Frovh—

E¥AR

%1

L EUSRES

#£13EH LIFXfF-9vT—FyLoPEL BREE—E

OREHRE  XIRARY

e -

28 -’

R £
il B4

A% B

E£m RE

O &K E&

O R& ok
i &

O W&k k&

O Bt %¥F

O &l =
B A

O %& Hfs
& A5

O® K&
B8 &%

O #R #H
e AB
+E EB(AM)

O = #7
Al EFE

O #% R

O £mk =

kA A=

T Eat

XIER 28R

BBUIRFIS

it

ik

FIAE BERL

=]

il

XA

m_

ttaF

=8

B &

EiE AT

b 3]

KEH B
&k BX

[3]z2]

wA

FaT&R
IR

EH

K&K

hn B

1

&K

X

7:30
ERITLEDE (KRRESHEST)
MBNRE. AR BRTHRALLET.

EHFITOVTIK, HOEMETAPEE, RRHTETHARBETHSRALLEY,

RE

243
B/t

3B
L2
BL# (AM)

=AER

%

ERT

BiIx

Ush

KER

AR HEA WA #REF(AM)
A {iaX il EBAEX
=it £k BEX
TREE 1N RS

ki B Xif
E+R RS ®e B
w& R W E— 0
AR EIE E: s A
BA Bx I AEF
BR wE Wtk B
SH H— E B8
kfE B RE #F
#=5 RE AR HX
FH BRAEE

ER g1 BB Ei

FIAE BRI

8l R

L #

e}

2 m&ih
# EE 15:00%T

THE RE

M RSB

hER A
W R

E RN



B &k B 18

FSuoEER 20244F8H3H (1)
s ot el fEH 1A | BERAmEEZl | BESZTHER
_ " . 1#8-248 | 940 9:50
1 s = = i Rl 4 3#E-448| 1000 10:10
2 10:30 x |RE 800m R 5 10:10 10:20
3 10:50  |/h4~6  |800m R B 1 10:30 10:40
4 10:55 B |/h4~6  |800m i 1 10:35 10:45
5 11:00 T |hE 400m R 2 10:40 10:50
6 11:05 8 |z 400m R 3 10:45 10:55
7 11:20 = [T |100m R 1 11:00 11:10
8 11:25 & /M3 |100m R 3 11:05 11:15
9 11:40 Z |/M4~6  |100m R 5 11:20 11:30
10 11:55 B |/ha~6  [100m R 8 11:35 11:45
11 12:30 X |hE 100m R 10 12:10 12:20
_ = . 1-1040  12:40 12:50
12 e = |7 o o 11-1748  13:10 13:20
13 14:30  |&Ek - —A%|100m R% 2 14:10 14:20
14 14:40 B |B#—#|100m apg | o | 1420 1439
114 14:50 15:00
15 1625 X |&ER-—#%|400m R 1 15:05 154115
16 15:30 5B |&# - —#&|400m R 7 15:10 15:20
17 16:15 X |B#k-—#%(800m R 1 15:55 16:05
18 16:20 B |[E#k-—42[800m RA% 4 16:00 16:10
19 16:50 5 |&#-—#&]5000m R 1 16:30 16:40
T4—ILRERH (B )
A ia B %l 1&H s | BEMARRZ] | BETTHZ
1 10:00 5 |#E EE Bk RBs 18 9:30 9:40
2 10:00 x |hE E= Bk REE 14 9:30 9:40
3 10:00 T e ESBk R A% 1 9:30 9:40
4 13:00 I | ENE Bk RBs 22 12:30 12:40
5 14:00 B |9 E= Bk RA% 13 13:30 13:40
6 15:00 T ([ER—i FEiEBk RB% 8 14:30 14:40
7 15:00 B |ak—f EiEBk RA% 15 14:30 14:40
8 15:00 B |ER—k EEB R 5 14:30 14:40
Z4— LR (R TE)
8RB %I EH S | BEMAERZI | BEXTHZ
1 10:00 x |hE Rt R B 21 9:30 9:40
2 10:00 T @ — i AR R R 1 9:30 9:40
3 11:00 B |#hE faiix P 12 10:30 10:40
4 11:00 B & Rtz R R 4 10:30 10:40
5 14:00 X | YAy an- Rk 6 13:30 13:40
6 14:00 B |hE Ve yhAD- R 13 13:30 13:40
7 15:30 x|SR — ik PR P 4 15:00 15:10
8 15:30 B |Ek-—ig vYUE RS 5 15:00 15:10




